TINTERE FERRER 5 AR R AR

[ itz B4R Mz (M h)
i %=
MAP » e | 2 F| A F
e B =B 4 bkt 7~9H [12~3H
~ 2~
(TR | ORI I o s N B O i e 5
A-1EEEBY B 200 — —
o A-MEEERY 2545 300 — —
A-EFEEHY FEY 300 — —
A-2{FEEIFHY H=E 50 400 450 |36 A2 A X 6% X 3%1) EAL:45X 180
o P BRI L LT, e
@ |A-stsmkEBY B 400 — — BV O TIcBE-TR Y
(B e 4% 31 5)
o \ e BRI L LT e B Sy
@ |a-stmEBy ~v=r2r% | 50 300 350 [&V O TFICHR->TES

(Al [ AR 2 23 D)

R A=V SR = AAUNeNY 1 & T  Eisk A= hva

@ = 50 200 | 250 |BvoTFicRoTEs

(B & TR A BT D)
® |11z 50 | 200 | 250 [[EA e Aanas)
©® [B-12@E&KFEE= 50 200 200 [32A@AX4E X4F) FAHL:75X 150
M |B-21%#= 50 250 250 [30A(B0%)
B-22A #=E 50 250 | 300 [36A@AX6%X35) FEHL:60X 150
© |B-22B CAD#(= 50 350 | 400 [30AG0%)
B-23/3var #E 100 600 550 |40 A(40%)
@ |B-2azs= 50 | 150 | 150 [[p8A x5 ash Al
@ |p-252= 50 150 150 zéﬁz(ig\xﬁg;axlﬂ) (2N X 45 X251)
(B [FESHESE 100 — —

g3 7 —218, TIG156FH, 7—715F, ¥
C-5% 8 £ H ) 50 | — | - |2 AT 715, RIS

CH R P N

(g7 —2)
© |AfE2ps S 50 200 250 |28 A EHL:14%(60 % 180)
ARO[ HE=E 50 300 350 |63 A(THE X3FEHL: (45X 180) 28H+25
@ |AfE3pE 301%== 50 150 150 |16 A A x 45 % 251) EHL:104(60 X 180)
AREFSME 302%= 50 350 350 |28 EHL: 14025 X KETH)

=gayl(=a =

P J08EE 50 | 550 | 500 |svavses
% A yR—L 100 — -
. I S A | AR D el A A F KR 1R 2 Sl 37 5,
e B 750[1] L. e S B e A TR T D L

Bk oy ORis B R AL 720,




